Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2020

Subject Name: Thermal Engineering-I1
Subject Code: 2TEO5THE1 Branch: Diploma (Mechanical)
Semester : 5 Date : 04/03/2020 Time : 10:30 To 01:30 Marks : 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams & figures (if necessary) at right places.

(4) Assume suitable & perfect data if needed.

Attempt the following questions (14)
1)  Adiesel engine has...... 01
A) Onevalve  B) Two valve C) Three valve D) Four valve
2)  The ignition quality of Diesel is expressed by 01
A) Octane number C) calorific value
B) Cetane number D) all of these
3) In a four stroke engine, the working cycle is completed in....... 01

A) One revolution of the crankshaft
B) Two revolution of the crankshaft
C) Three revolution of the crankshaft
D) Four revolution of the crankshaft

4)  Indicated power of a 4-stroke engine is equal to... 01
A) pLAN/2  B) 2pLAN C) pALN D) pLAN/4
5) A petrol engine has compression ratio....... 01
A) 6010 B) 10 to 15 C)15t0 25 D) 2510 40
6)  Heat engine uses energy to produce mechanical work. 01
A) Thermal B)Fluid C)Kinetic D) Electric
7)  One tonne of refrigeration is equal to 01
A) 21kJ/min B) 210 kJ/min C) 310 kJ/min D) 420 kJ/min
8) The boiling point of ammonia is 01
A) -105°C B)-305°C C)-33.3°C D)-77.6°C
9)  Which of the following cycles uses air as the refrigerant....... 01
A) Carnot  B) Stirling  C) Ericsson D) Bell-coleman
10)  The C.O.P. of domestic refrigerator....... 01
A) islessthanl B)lIsmorethanl C)lIsequaltol D) none of these
11)  Which type of compressor is used in domestic refrigerator....... 01
A) Centrifugal C) Miniature sealed unit
B) Axial D) Piston type reciprocating
12) The most suitable refrigerant of a commercial ice plant....... 01
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A) Brine B) NH;  C) Freon D) Air
The friction power is given by
1) FP=BP-ILP 3)FP=I1P-B.P
2) FP=B.P/ILP 4)FP=1P/B.P
According to Dalton’s law of partial pressure

1) Pb :Pa - PV 2) Pb :Pa + P\/ 3) Pb :Pa/ PV 4) Pb :Pa * PV

Attempt any four questions from Q-2 to Q-8

Explain two stroke cycle petrol engine with proper sketch.

Draw simple sketch of I. C. Engine and state the function of each part of engine.

Draw and explain actual valve timing diagram of four stroke petrol engine.
Differentiate between two stroke cycle and four stroke cycle I. C. Engine.
State the reason of failing a spark plug.

Discuss the safety issue. While using CNG and LPG as fuels.

Explain LPG Conversion Kit with figure.

What is Octane and Cetane number? Explain it.

Explain briefly the concept of heat engine, heat pump and refrigerator with
figure.

Draw schematic diagram of simple vapor absorption system and explain its
working.

Define following terms.

1) Saturated air 5) Wet bulb depression
2) Dry bulb temperature 6) Relative humidity
3) Specific humidity 7) Psychrometry

4) Sensible heat of air
Explain purpose of various component of a window air conditioner.
What is the function of expansion device? Explain Capillary tube in brief.
A single cylinder, two stroke oil engine having following observations
Mean effective pressure = 3 bar
Cylinder diameter of engine = 30 cm
Length of the piston stroke = 40 cm, Engine speed = 300 rpm
Mechanical efficiency of the engine = 65%
Calculate 1) Indicated Power kW. 2) Brake power kW.
Difference between window and split air conditioner
Write characteristic and application of commonly used refrigerant.
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